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Systems of Equations: EOC Prep
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Directions: The following questions are sample items similar to those found on the EOC Exam. Answer each to

the best of your ability.

1. Only chocolate and vanilla ice cream cones are sold at an ice cream store. In one day, the
number of chocolate cones sold was 1 more than 4 times the number of vanilla cones sold.

A total of 121 cones were sold that day.

Let ¢ = the number of chocolate cones sold.
Let v = the number of vanilla cones sold.

¢ Write equations to determine the number of chocolate cones sold that day.
¢ Use the equations to determine the nummber of chocolate cones sold that day.

Show your work using words, numbers, and/or diagrams.
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2.  The math club sells candy bars and drinks during football games.

. 60 candy bars and 110 drinks will sell for $265.
. 120 candy bars and 90 drinks will sell for $270.

How much does each candy bar sell for?

(Note: Express the answer in dollars.cents.)
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3. Two times Antonio’s age plus three times Sarah’s’
also five times Antonio’s age. How old is Sqra!;gi .
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4. Paul sells chocolate chip cookies and peanut butter cookies.

.

Baking a batch of chocolate chip cookies takes 1.75 cups of flour and
2 eggs.

Baking a batch of peanut butter cookies takes 1.25 cups of flour and
1 eqgqg.

Paul has 10 cups of flour and 12 eggs. %= Bof Po cokres

U= %ot cC cookies
Profiy: 2% J,—l..\_b

He makes $4 profit per batch of chocolate chip cookies.
He makes $2 profit per batch of peanut butter cookies

How many batches of peanut butter cookies shoutd Paul make to maximize his
A ———A

profit?
® :
B 2
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5. A company produces packs of pencils and pens.

What is the maximum profit the company can make é‘éi'ch day"
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The company produces at least 100 packs of pens each day, butno X = H of pens
more than 240. '
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The company produces at e Ieast 70 packs of pencils each day, but no \J * v 0"8' pen el d
more than 170.

A total of less than 300 packs of pens and pencils are produced each
day. '

Each pack of pens makes a profit of $1.25.
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Each pack of pencils makes a profit of $0.75.
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almonds, the mixture had a value of $6.50 per pound.
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7. Which ordered pair is in the solution set of the system of inequalities
shown in the graph below?
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8. Whichis the graph of the solution set of the system of inequalities?
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9. Lucy and Barbara began saving money the same week. The table below shows the
models for the amount of money Lucy and Barbara had saved after x weeks.

Lucy's Savings f(x)=10x+ 5

Barbara’s Savings | g(x) = 7.5x + 25

After how many weeks will Lucy and Barbara have the same amount of money

saved? ( |
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11. What scenario could be modeled by the graph below? o >5 No :
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A The number of pounds of apples, y, minus. two times the number of pounds

of oranges, x, is at most 5. \J 1 x 4. 6

B The number of pounds of apples, y, mEnus haif the number of pounds of
oranges, x, Is at most 5. %

C The number of pounds of apples, y, plus two times the number of pounds of

oranges, x, is at most 5. .\ 2)( & (::) 4 e
D The number of pounds of ap ‘ées y, plus half the number of pounds of
oranges, x, is at most 5. ! =

9+.;2..x LS




